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pi / i = 1, ..., 4
- 0

123242 5676 8 9:;<= >? 8; @AB:CDE
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.21 / p2 = 0.33 /
p3 = 0.53

$  %��&�"���) / '�� �����I
��J� ��$ ,��'$!� K -LMN L- O ���$  %��I
&�"���) / '�� �������%� "% *%"%% , �G
,��'$!� -

123242 56P 6 8CQ>R@CA>?: 8C:BQ:B<S
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.24 / p3 = 0.47 /
p4 = 0.51

$  %��&�"���) / '�� �����I
��%� �,$" ,��'$! K -TTUV - O���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -

123242 56W 6 X @YE ZA>? [ \>E ]
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.27 / p3 = 0.52 /
p4 = 0.58

$  %��&�"���) / '�� �����I
��%� �,$" ,��'$! K -T^^M - O ���$  %��I
&�"���) / '�� �������%� "% *%"%% , �G
,��'$!� -

123242 56_ 6 X @Y`SYaA>? 8; @AB:CDE
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.32 / p2 = 0.36 /
p3 = 0.45

$  %��&�"���) / '�� �����I
��%� �,$" ,��'$! K -TTT L- O���$  %��I
&�"���) / '�� �������%� "% *%"%% , �G
,��'$!� -

123242 56b 6 c:99:B>?: d := <;;:
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p2 = 0.34 / p3 = 0.45 /
p4 = 0.58

$  %��&�"���) / '�� �����I
��%� �,$" ,��'$! K -TeKM - O ���$  %��I
&�"���) / '�� �������%� "% *%"%% , �G
,��'$!� -

123242 56f 6 g ?>E BA<h 8CDE @h
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p2 = 0.39 / p3 = 0.46 /
p4 = 0.51

$  %��&�"���) / '�� �����I
��J� '%�(�% ,��'$!� K -K^iM - O���$
 %��&�"���) / '�� �������%� "% *%"%%
, �G ,��'$!� -

123242 565 6 g @= <D>? 8; @AB:CDE
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.24 / p2 = 0.34 /
p3 = 0.48

$  %��&�"���) / '�� �����I
��J� ��$ ,��'$!� K -LiU L- O ���$  %��I
&�"���) / '�� �������%� "% *%"%% , �G
,��'$!� -

123242 56j 6 g E >9k<A c@>E \<h
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.32 / p3 = 0.44 /
p4 = 0.58

$  %��&�"���) / '�� �����I
��J� ��$ ,��'$!� K -LMiN - O���$  %��I
&�"���) / '�� �������%� "% *%"%% , �G
,��'$!� -

123242 56l 6 d <E m<C n :; @E <h
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.3 / p3 = 0.45 /
p4 = 0.6

$  %��&�"���) / '�� �������I
%� �,$" ,��'$! K -T^KN - O���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -

123242 567o 6 d >E >; @?: p:Q]SC:
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.23 / p3 = 0.5 /
p4 = 0.57

$  %��&�"���) / '�� �����I
��%� �,$" ,��'$! K -TiTN - O���$  %��I
&�"���) / '�� �������%� "% *%"%% , �G
,��'$!� -
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123242 56776 d ZYC@�>? �Q @m:C
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.26 / p2 = 0.43 /
p3 = 0.5

$  %��&�"���) / '�� �������I
%� �,$" ,��'$! K -T^Vi - O���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -

123242 567P 6 � :hA>? g = <QE <h
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.23 / p3 = 0.45 /
p4 = 0.54

$  %��&�"���) / '�� �����I
��J� , � ,��'$!� K -TMKT - O���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -

123242 567W 6 � @BB:CB �D\:E � :Q]SB
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.29 / p2 = 0.34 /
p3 = 0.48

$  %��&�"���) / '�� �����I
��J� ��$ ,��'$!� K -LV^^ - O ���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -

123242 567_ 6 �>= <k 8CQ>C
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.24 / p2 = 0.43 /
p3 = 0.44

$  %��&�"���) / '�� �����I
��J� ��$ ,��'$!� K -LVT L- O���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -

123242 567b 6 �>;D:Q>? 8; @AB:CDE
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p2 = 0.31 / p3 = 0.43 /
p4 = 0.6

$  %��&�"���) / '�� �������I
%� �,$" ,��'$! K -TiKT - O���$  %��I
&�"���) / '�� �������%� "% *%"%% , �G
,��'$!� -

123242 567f 6 p>;= :k�? � <A<Q:
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p2 = 0.43 / p3 = 0.53 /
p4 = 0.58

$  %��&�"���) / '�� �����I
��J� , � ,��'$!� K -TN L^ - O���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -

123242 56756 p>;Z�A<C �>BQ<B;:?
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.25 / p2 = 0.3 /
p3 = 0.49

$  %��&�"���) / '�� �����I
��J� , � ,��'$!� K -TMiU - O���$  %��I
&�"���) / '�� �������%� "% *%"%% , �G
,��'$!� -

123242 567j 6 pE <�>C>? g = <QE <h
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.28 / p3 = 0.46 /
p4 = 0.58

$  %��&�"���) / '�� �����I
��J� , � ,��'$!� K -TMMU - O���$  %��I
&�"���) / '�� �������%� "% *%"%% , �G
,��'$!� -

123242 567l 6 �Z= :A>? [ ?:C
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.29 / p2 = 0.34 /
p3 = 0.49

$  %��&�"���) / '�� �����I
��J� ��$ ,��'$!� K -LMLN - O ���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -

123242 56Po 6 � <9:C>? �@E \@h
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.24 / p3 = 0.44 /
p4 = 0.53

$  %��&�"���) / '�� �����I
��J� , � ,��'$!� K -TiV^ - O���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -

123242 56P76
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p1 = 0.32 / p3 = 0.47 /
p4 = 0.59

$  %��&�"���) / '�� �����I
��J� , � ,��'$!� K -TVe^ - O���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -

123242 56PP 6
F+ %��"(  %��&�"���$ ������( �"$&
��%G ,��'$!� H

p2 = 0.34 / p3 = 0.49 /
p4 = 0.62

$  %��&�"���) / '�� �����I
��J� , � ,��'$!� K -TVN L- O���$  %��I
&�"���) / '�� �������%� "% *%"%% ��%G
,��'$!� -


